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Peniure HepaBeHCTBO:

Dlog. ,(5x+20)<log. ,(x+4);



Peniure HepaBeHCTBO:

2)log,_. (2)62 +3x + 1) > 2;



Peniure HepaBeHCTBO:

1)
3)log, | x——=|=1;
3

3x+1



Peinure HEPaABEHCTBO:
4)log . (logx V6 —x)> 0;
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Pelyre HEPABEHCTBO:

5) log,,, (10g2 (x - 2x)) <0
log,, (x2 +6x+ 10) :

b



Peniure HepaBeHCTBO:
2log,\|x| _ log,(x+12)
log .. (x+7) " log,(x+7)°
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Peniure HepaBeHCTBO:

) lg(3x+2vx 1) log,, 11

lg(5x +3x - 2)5 log,11°




Peniure HepaBeHCTBO:

(x — 0,5)(3 — x)

) log, ‘x — 1‘
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Peniure HepaBeHCTBO:

Nlog, . (x + 7) < logxz_5 (x + 7);



Peniure HepaBeHCTBO:

10) log (x2 —4x —211);;103g;(x2 —4x—1 1)3 > 0:




(g f(x)-1g1)Ig g(x)-Igl)
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Pelure HEPaBEHCTBO:

11)log, (x+2)-log..,(3-x)<0;

x+3



Pelure HEPaBEHCTBO:

]
12)log, * -Hlog, il > 2;

3 x+1 > 3x




Peniure HepaBeHCTBO:
log, (x + 1)— lg(ox + 1)
13)
lg(1-x)—log,(1-x)

<log, 25;



Peliure HePaBEHCTBO:
14)log, (9" —4")<log, (3" +2")+log , (37 +2"}



